— awischendurch geilbt
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WAAGERECHT

3 1244 -812-39 =

4 1258 + 1624 =

6 1888-778-91=

8 199+403 +519=

11 90009 + 1002 + 2003 =
13 77 + 192 + 809 =

14 4555+ 987 =

14

— awischendurch geiibt

Rechne im Heft schriftlich und iibertrage zur
Kontrolle die Ergebnisse als Zahlen in das Ritsel
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WAAGERECHT

3 1244 -812-39 =

4 1258 +1624 =

6 1888-778-91=

8 199 +403 +519=

11 90009 + 1002 + 2003 =
13 77 + 192 + 809 =

14 4555 + 987 =

Rechne im Heft schriftlich und iibertrage zur
Kontrolle die Ergebnisse als Zahlen in das Ritsel

SENKRECHT

11589 - 1255 - 1096 =
5105-855=

3478 -99 - 167 =

113 +267 + 481 =
644 + 626 + 23 =
11261 - 1879 - 371 =
10099 + 341 + 7444 =
10 4498 - 2981 - 430 =
12 8762 -4615 - 142 =
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SENKRECHT

1 11589 -1255 - 1096 =
2 5105-855=

3 3478 -99-167 =

S 113 +267+ 481 =

6 644+ 626+ 23 =

7 11261 - 1879 - 371 =
9 10099 + 341 + 7444 =
10 4498 - 2981 - 430 =
12 8762 -4615 - 142 =
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